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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
202 Od4dl 3,000 0 3,000
01 = LHA YI 3,000 0 3,000
ORLE U 20X SAZ AL 1,000
OXtsx 22 GRFA 2,000
SARE MEAHA 2= 293,777 211,950 81,827
s 88,000
< 21,248
[ia 184,529
SENsX elZet i 293,777 211,950 81,827
s 88,000
= 21,248
s 184,529
lgsizgagds XA 18,800 18,800 0
201 2et2d]| 13,800 13,800 0
01 At 2teltl 13,800 13,800 0
OZAZ I MMHS 88 & NIAH
OHLY 2 Xt & &l 10,000
Ogaz S2J|IHEs 29 1,000
OJIgNH =& Sl 2,800
202 odl 5,000 5,000 0
01 = LH &4 1l 5,000 5,000 0
OJIGRXXNE 2= 5,000
s3HX 22 29 7,150 7,150 0
101 @124l 6,150 6,150 0
M4 IR Z22NSES 6,150 6,150 0
O=s3¢tk 23 22y 2,400
Os3HX Itz dEEY 3,750
201 Let24E] 1,000 1,000 0
01 At 22l 1,000 1,000 0
O3kl Zel g2F2 1,000
ER=a=PNRPS)s] 10,000 10,000 0
401 AIEHIZ 28I 10,000 0 10,000
01 A& HI 10,000 0 10,000
SESHA 35 0IEAE B 2 A& 10,000
s3HX FHUI(EX) 177,000 134,000 43,000
s 88,000
s 89,000
401 Al& Bl 28I 177,000 134,000 43,000
s 88,000
s 89,000
01 A& HI 176,000 133,040 42,960
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Os3&X ZHl 1,000
SANHXE 70,827 42,000 28,827
< 21,248
s 49,579
402 2I2H X201 M 70,827 42,000 28,827
< 21,248
s 49,579
02 QI 2 AL EZ (01X TH ) 70,827 42,000 28,827
OsAJY SZMLAEE 70,827
< 21,248
s 49,579
HFAXA 10,000 0 10,000
201 Lt 10,000 0 10,000
01 At 22l 10,000 0 10,000
OFgs X 28 2 XY 2 82 10,000
ng =48 otH 412,137 277,781 134,356
= 48,000
s 134,907
< 27,247
s 201,983
AMEEO LXtelotA 412,137 277,781 134,356
= 48,000
s 134,907
< 27,247
s 201,983
S22 MY 140,000 120,000 20,000
101 14l 140,000 120,000 20,000
04 JI12ZtHZ22HEE = 140,000 120,000 20,000
OZ23222AMg 0L o8 140,000
ASIEDIY X 180,937 157,781 23,156
s 134,907
< 14,287
i 31,743
307 21201 A 180,937 157,781 23,156
s 134,907
< 14,287
[ia 31,743
02 It S AIHE L 180,937 157,781 23,156
OB At =Dl L Xtel & 165,000
as 123,750
< 12,375
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= 30,240
02 QI2tAAMAIE E =X 91,200 0 91,200
OMSEAM HESHAI XS 91,200
= 48,000
= 12,960
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HHSHAY (B HREY) 41,244 38,592 2,652
Jl23ddl 41,244 38,592 2,652
AHunsy =234l 41,244 38,592 2,652
201 et d| 16,524 15,552 972
01 AP 2t 2] H| 16,524 15,552 972
O S MO A 13,224
OSEH A 3,300
202 044 20,520 19,440 1,080
01 2L Hl 20,520 19,440 1,080
O S M0l A 20,520
203 &R F & 4,200 3,600 600
04 FEASHEYIFFEH| 4,200 3,600 600
OZdNMREN BEXA2Y 350,000& x12& 4,200
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